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question: "Which of the following is the most likely cause 

of this patient's anemia?”

options: (A) Vitamin B12 deficiency, (B) Gestational 

anemia, (C) Iron deficiency, (D) Thalassemia trait

Initial Info: “A 27-year-old G1P0 woman at 9 weeks 

estimated gestational age presents for a prenatal visit.”

context: "A 27-year-old G1P0 woman at 9 weeks estimated 

gestational age presents for a prenatal visit. She is 

vegetarian and emigrated from Nepal 7 years ago. She does 

not use tobacco, alcohol or recreational drugs. The 

patient’s vital signs include: blood pressure 111/95 mm Hg, 

temperature 36.7C (98.6F), pulse 88/min. Laboratory results 

are significant for the following: | Hemoglobin 10.2 g/dL | 

Erythrocyte count 5.5 million/mm3 | Mean corpuscular volume 

65 μm3 | Mean corpuscular hemoglobin 21 pg/cell | Red cell 

distribution width 13.5% (ref: 11.5-14.5%)."
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https://stellalisy.com/projects/mediQ/
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